Ve

EAS N Http://www.china-easun.com

Rotary table cylinder

@ Characteristics

@ Surface of cylinder tube oxidated , anti-corrosion and abrasion-proof .
@ Double axis frame to reach double transfer force .

@ Gear and rack frame , rotary smooth .

@®Precision process, with lacation hole , assemble easily and correct .
®Middle of operation with hole , pass line or tube .

®Have magneticring, can assemble reed switch .

i  Product Code System

ERTB 10 - K - 2 - A - 2 ERTB 10 - K - 2 - A - 2

] | ] N

Type Oil pressure cushion

" 5 2 y Model i ) "
EEHERS M MEFX  MEFREE  AESFE SE4BNE Hode! 10 et swich AWith ol Ol pressure cushion number

10 (%8 ) (3 ) table :With reed SWIteh geeq switch number pressure  {:one oil pressure cushion
20 Blank:Without 1: - cushion ) A .

R cylinder 3 ¥ :one reed switch 2:two oil pressure cushion
30 KRt FF 5% Yy reedswitch . ; Blank:Adjusti
50 1 ANEEMEFE ASHIEZME 110 EmhE 50 2:two reed switch ank:Adjusting

= AT CoA . DA 70 screw
70 FTREHMFRL 2: 2 BETFX =R ELT ™NEIRER oo
100
m  Symbol B  Example

AFororder of the dimension 10, with two reed switches , with oil pressure cushion cylinder, the correct order
_ codeis: ERTB-10-K-2.

I  Specification

T B/Item #ig / Type ERTB-10-[J ERTB-20-[ ERTB-30-[] ERTB-50-[] ERTB-70-] ERTB-100-[1J
B ER U/ Action Wi 2 4t o £ 7 WAE A BY/Double piston gear and rack type and double action
T4 B/Fluid =5 (240 Aiml _EIEFT#E ) /Air (At least 40lim filtred)
#H/Torque  N-m 1.5 2.2 3.2 5.5 75 9.8
SELEI2/Inner Diameter $15 $18 $20 $25 $28 $32
23 fE/Swing angle 90°  180°
% f BE/Adjust angle 0° ~190°
#E& N1E/Port Thread M5X0.8 G1/8
{& A £ 1/0Operating Pressure MPa 0.15~0.7
1 IR E / Operating Temp 0~50
@ Reed Switch I Specification
#£ E/Wiring Diagram
BT |\ FXiBHE EAEX |EA BAF | &AE | BRT | B RAFX | ERRE | BPER
Type |Switch | Switch BE XHF | AFE | Indicator| REE YisRE | SERE Protection
NS " Logic Pattern Load Max Max Light Reation Max Operating | Grade
58 Brom + Votaged | current | Capacity sensitivity | Switching | Temp
~ Frequency
wor | Bhn
&R Pr Bupply B — .
e ES-072R| #FFEL | Has crunode 5 ~240V/ 100mA | 10W LLED | 70885 200HZ -10 Ip67
% | DC/AC | (&K) | (B&X) Red G 70T
s Normal | magnetic spring (Max) | (Max) | LED auss 7
BdBlue L- Open pipe type




[E %% 75 5 % [E % f3 /Rotary direction and angle

¥ Bt HEEE/Rotary withershins

@qj‘qjé
* b

IIFE Bt $1 e #/Rotary deasil

AOBSTIEEE R $THER,
BO#STIEA AT §t e s
A input rotary withershins ,
B input rotary deasil .

R A EMH L AR,

RAHBEEW EEMT, EAFERAH190°
Location hole as basis , max.

rotary angle range as above picture , max.
Rotary angle is 190° .

[3 %% f5 BE A B2 (L90° % £ 1 fil)/Rotary angle adjust(90° as example)

#9812 4TB/Regulate the adjust screw B

Z A4/ Location hole

JHEE T 2£TA/Regulate the adjust screw A

eﬁD‘QJQ

| Qfmmgﬁ |
.

(3T 7% ]

AL Location hole

[5 B i 2 i 3542 $TA. B/Regulate adjusting screw A, B same time

% A4 9L Location hole

&
fE
« |

@qj‘QJQ

A



Dimensions

ERTB-10-50 oA
o8
ol
D
OKORKD 1
L] = -
OKE 2 B
>\ [~ (S}
[ | Y =
&@® | O
-
_ fB ARG . 5 I8 s
LA\ LT = 1]
=| [[{ @]
L 1kA| i
P = RAEA
M ]
! :
s 1
2 N
%
4 1\
$ m
B[
o (N A Y
Laly
D
$ J
¢PB
08
k. #me
type \ code A AA D EA F G |GA|GB| H | J JA KA KB | KC
10 46(h 45 6 92 19 | 95 47 1831 34 | 5 15(h9 35 28.2 M8X1.25 12 11
20 61(h9 6.6 8 117 | 19 | 12 54 | 17 | 37 | 9 17(h9 50.8 | 28.6 | M10X1.5 15 | 14
30 67(h9 6.5 8 127 | 19 | 12 57 | 17 | 40 | 9 22(h9 52 33 M10X1.5 15 | 14
50 77(h 75 10 | 152 | 19 | 155 | 66 | 20 | 46 | 10 | 26(h9 62 37.5 | M12X1.75 | 18 | 17
i\ #me
type \ code KD KE NB | BC OA| OB P PA | PB Q QA | QB | QC R
10 6.5 6.8 155 | 13 3 | 3.5 | M5X0.8 8 32 | M5X0.8 8 60 27 | M8X1
20 8.5 8.6 16 1212054 |5 M6X1 9.7 | 43 | M6X1 10 | 76 34 | M10X1
30 8.5 8.6 185 | 14 | 23 4 | 45 | M6x1 10 48 | M6X1 10 | 84 37 | M10X1
50 10.5 | 10.5 22 15| 265 | 5| 55 | M8X1.25 | 12 55 | M8X1.25 | 10 | 100 | 50 | M14X1.5




Dimensions

ERTB-70-100 oA
N 9B
) 8C
ﬁi‘k
f \ OKCKD ] —~ ‘Dl
OKE - =
| [ =
O & | @D
N LN . -
_ fan) ) -
| D T+ |
anY Fan i
=l 73 ———
“\J A4
L 1k e o, = ™
M 9l
N £
= 2.
%, c
& P
Pany , =
¥ D= J ‘ %
. > my—
/L VRN 7Y I I\ ) N
o) © Bl L
D Iy o JU \
<
4PB 4
%,
0
gmgﬁe ij)‘:'?e A |AA| B |BA |BB c D|E |[EA| F | G |GA|GB| H | 1| J | JA KA KB |KC
70 |90(h9) |9 |88(h9) |5 |125| 46(h9) | 10 |170 |46 | 17 | 75 |22 |63 | 16 |22(h9) |70 | 46.7 |Mi2X1.75 |18 |17
100 |100(h9) | 12 | 98(h9) | 6 | 14.5| 56(h9) | 12 | 189 |46 | 14 | 86 |27 |59 | 19 |24(h9) |82 |50.3 |M12X1.75 |18 |17
f{,mgge ﬁfj"e KD | KE /'L /M| MA|N|NN|NA |NB [NC| O |OA|lOB P PA |PB| Q QAlQB @Cc| R
70 10.5 |10.5 |43 |78 |G1/8 |84 |92 145 |26.5 |24 | 325 5 |35 | M8X1.25 | 12,5 |67 | M8X1.25 10 | 110 |57 | M20X1.5
100|105 |105 |50 |89 | G1/8 |95 [102 |16 |29.5 |27 |375 | 6 |45 |M10X15 |145 |77 |M8X1.25 |10 | 130 |66 | M20X1.5




